n .
POU»’)DM . X ’:I P—“”‘M% POUV)O‘—\ —

L'/ Poﬁ)'mk j:q -
~7 ¢



ﬂl;’l‘ U"'ﬁ ) E’WUA Lﬂ-’@;) /'h/:/Vl-
A2 X WW}\JK At Mﬂ/}’"

Lopdogt ot



Wl/—_\
4
6
P(X%)-—'P(XZQ)f’ (6)-F1s)
X v U. mc.nﬁma/g.[f
£ (x) — " (x)
=) - O x < 7]
//—Qiq X> [ (r~><_9i
f6e) = © << -9 )
C—L X
5 x>



1, £6)%0 EE

2 joc (x) dx =/ |
) yw:f /)
R JTI
| gorbe MM
Cerihet =/

Plaexed) =< Fl4)-F(a) =
.
({0 dt

Dz{’ 0y X {oﬁ)ltoun ol v~

P—(cﬂM% n (,pvn,ll/é/u; A1 x /hcu-\/

Coninf p(x P(XCY) P
T/M.»m P = 010’

o, SJ
0 95



2L 0,0 =) xt‘f:l— =10
X o, 05
((
= o

LuauanL,
Lo Elx) 4 ()

,z%z WL) {en. &
Cotna pe

(. xL/1
k. f(y):!qi’f (e >;>(

r _ %Q-xgsfchx
€(><):_JO n ) dr - ,f



OO—.
,_f]/
L
X

,,/9

EE
gl e

(x)
). e(xY)-€&
Q(X .

Gore -

Q%%ﬁx
e
E(xY) = Z e
of (v)= G
Re.

_f
O/](.d
. 4y
:‘.‘fx
Lf{w)dx
X
?’):f
( ¥
E

&
V[ 2
‘ Z{J( '
dy -
(,,
f



A everfe, Lolton hatined
£ Sy, thonfoor V-
Ar X Apyedils: W
“q. [a\ 6] G2, frn

ol ceol b

P(Xé[c 07]) = Oj_c*‘
Z‘/(th/(//):{‘/.’ xséa

Fle)z P(xex)= fﬁ ““5
W

% Q
(o “¢xCb
P(Xcx) = p(Xel ’X])




/ ’ <j__
£1y)- r'/z) el
{;/@:%
|

b= u Z
,—,L/f//}'/_ :
A

b (x)- é -

-. [O//D taww WM’”A
p(@Uchoz.ogU ~ =0
Gerp . (0] 1omtcte Www
hontord At

(5,6) hmblunbst munctode -
Lo, Lobinf meiets S+ RND



R

_‘______/

o

Alfolife Cellortsiaollid Dputde
L L Pl jin L8t Cpoten el

X< O

O
t/y);f
/]_6_3% x >0
~

SEpaetdr
it 6 XLO
:f(X):;(JP_‘_JX )(70

1
/W{J{—u&’/ (M‘") E(k):(j-
Lz £xp. o - v venelelln:t




._‘?//——f""’“:ﬂf-ﬁ
0 t 44

&P-W“‘, v,V
A Red pe (A e botdin ('C(xjt
LM Gl



6 %
r?'){_ //_6;‘0/0‘(9

5~ 00X 025 =) x=4G0

N S N,

——







Y. X A secded Lowyill,

M«-—.’ V.uv,
o, P(X<1)= @(1)= G803

6., P(—»2<X<3): qf(z) ~(ﬁ{——z)f_
b3 (1-& (2)) = 4(2) +4G)-]
= 092221 0,958+ —1=. .
Al boneadin b
(epynr A4 e Lartel ol
Al v /"6/’2 0" >0.

Pl Yot 8l w5 1t

0 pqﬂmwuén_ Al V-V
()= E(T X +p)= CEG)ipn
—
_J/(u- O
D(Y) = D(¢ X++) = 0\%):(7
/I



= (0
6 =
_,%/

p =

v--

V.

X< 25 )
(

D

<)



6, P (21 ¢x<32)

<., P( ><">I§t)
<, P(X<25‘) :C{S(ZSZZO)"

Glo5)= 06915
6, P (21 ¢x< 32) - ¢ gzl;zo)

(?—f——’w) 6(12) -#lel)-
08899 — 0,5393=,

<o P( X313) =1~ P(x< 13)

1o ¢ (=) 1- ¢ (%)

1 —qS/o,z)
(- (1-d(0Y)= 4o o023

2 P Ix- p1<27)
¢ p((% - pl<39)




e, ’P(-sz)(_,/u<26_):
PQ‘,"}&‘O( (/4-;26‘)=

+ _# _ZG‘—-/‘J)/
=) 4 ()
¢(2’>-—£(‘/2) :"2(6(?,)~I:

(-

2.0,9322 1= 0,95%G
2 P(|X-pl35)"

J

P -3¢ ¢ xowe35) =
P (k36X ¢ paf3 f) -
(L) _.¢(/‘;é°“5/:
¢13) - cp’/-z) = @ (3)- /4-«45/3}),/

24 (3)- =2 0,998r~12533%4







